M:thin English Brain Teasers level 1 #23

puzzie2 puzzle3
Which number completes Which number should replace
this puzzle ? the question mark ?

A

(10) 1|55
E C .

> / 2 ? 7
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M:thin English Brain Teasers level 1 #23

Answer to brain teasers

puzzlel: A
Each step, the circles and symbols are rotating one step clockwise

(90 degrees).

puzzle2 : 4
4 and the letter value of F equal the center number 10.

puzzle 3 : 1
Divide the left 2 cells in each row by 3 to get the 3rd cell.

puzzle4: 16
The pattern is plus 1, minus 3.
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